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A & 0l & AF 2 E A A
SM: HHBED MM
HE: A0 MEBONY DE
& Hots MEeR e (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
M E = M OtA 1} 6,638,516 4,349,382 2,289,134
2 116,000
X 690,000
< 560,000
Al 5,272,516
AQl MEotdar 2= 6,431,205 4,157,315 2,273,890
2 116,000
X 690,000
< 560,000
Al 5,065,205
ROt ME0& X 76,881 91,252 A 14,371
Hzzs =249 16,750 19,252 22,502
201 Let249] 12,750 16,372 A 3,622
01 At 22/l 12,750 16,372 A 3,622
OMEUAARFN S22 T S H| 1,050
Oz ™el 7,0008 » 3F * 5 * 103 1,050
oHtZzE2dH B2 11,700
o= 250& * 10,0000H 2,500
O2AElHAH 100& = 8,0000H 800
O X 250& = 8,000H 2,000
OB2 4L, 22 N
2,000& = 2,0004 4,000
O (EHS) 80,000& = 30H 2,400
202 OHl 3,000 2,880 120
01 = LH 4 Hi 3,000 2,880 120
OMEDIA X2l 20,0008 = 3% * 52 * 108 3,000
203 &R T bl 1,000 0 1,000
03 AIMF=XH S =AY 1,000 0 1,000
OMEQH A#LRZA 1,000,000 1,000
Jls&&e 0 Hel 28,571 72,000 A43,429
201 Let24d]| 5,371 21,131 A 15,760
01 At 22l 2,783 3,452 669
OJls=ZE QAAX™e 423 2,783
od s 3+ 24,0003 = 103 = 34 720
OdESECHOIH 15,0002 * 14 15
(OF:ES 17,000& * 1504 255
Octorz 5,500& 354 193
O 8 225 20,000& = 8& = 100K 1,600
02 =224l 2,588 17,679 A 15,091
OJIAHE2 13 &Hl d=dl  1,969% » 4004 788
OMERIA X2 AlIZEH Rl 1,800
OJIHZHIRXHI(6F) 300,000& * 6& 1,800
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Sl ROPHs MERIRF 2 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
206 M= Hl 13,200 24,100 A 10,900
01 =4l 13,200 24,100 A 10,900
OL2+=E XM 13,200
OZfotAa= 12,000& = 1,100% 13,200
401 Al HIZ 201 Y| 10,000 0 10,000
01 A& HI 10,000 0 10,000
SR 2L BF 10,000, 000 10,000
MEESH LEMH A 15,340 0 15,340
201 LBt 15,340 0 15,340
01 At 22l 15,340 0 15,340
oZz2eg A2 gFXHe 156,340
O=&ZX 8§ 22F
9,000& * 165 = 1004 14,400
O3RME 150,000& * 24 300
OXM=EetolH (&0t 300,000& = 2K 600
QUol =&l X 20,0002 274 40
HZZ2 JI2ZHMZ2 2 X 22 16,220 0 16,220
101 1A Hl 16,220 0 16,220
04 JIZHHZ2XNHEE S 16,220 0 16,220
OJIZHZ22XE B (MR UAl) 16,220
ool 46,9108 = 2% » 6OHE » 26 14,636
OAslEd 1,584
ysEe
46,910% = 2% « 6OHE » 262 = 2.995% 439
-“2JeLEEE
46,9109 * 2 * 6O » 262 » 5.99% =* 58
6.55%
-201013
46,9102 * 2H  6OHE ~ 262 = 4.5% 659
onk-LL
46,9103 * 29 * 6O * 262 = 1.5% 220
“MHEE
46,9103 * 2 « 6O » 262 * 1.42% 208
CCTV D18l Atz otM 2 =H[Y 5,854,324 0 5,854,324
= 116,000
Xl 690,000
< 560,000
Al 4,488,324
dHE CCTV 24 2,568,165 0 2,568, 165
201 £B-2d| 1,689,597 0 1,689,597
01 At 22l 1,840 0 1,840
OsSg2H4dH 29 Al 1,840
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OxZely &4 220,000& = 2K 440
OFAX EUH 200,000& * 10K 200
ONSBE 2 HASE 79 S
100,000& = 1200 & 1,200
02 =224l 1,687,757 0 1,687,757
oYY E CCTV 2¢ 948,024
odEad AEZ
100,000& * 6272 *1204 & 752,400
OXZ3ld MEZ(2015E EXE)
100,000& * 1320H2 » 6IHE 79,200
o&IIe3 14,0003 * 62702 = 120HE 105,336
O&II= (20154 &X&)
14,0003 = 132002 = 6OHE 11,088
OSEg2MEH 29 24 524,349
O 0IES TS CCTVEEAIAE RXIHI
25,466,250 * 1201 & 305,595
O 0IES TS CCTVEEAIAE KX
6,775,000& = 1201 & 81,300
OXELHE CCTVR2IEAIAE |
7,903,000& = 120 & 94,836
OsF24dH CCTVR2EAIAE |
500,000& = 120H& 6,000
OdaHuHAE CCTVE2EAAE S X
2,421,000& = 1201 & 29,052
OsZ4EE CCTVR2IEAIAE KXl
630,500& * 12043 7,566
OsSg2M4dH 2 &l 215,384
Osg2MulH &I
4,500,000& = 10H2 = 12042 54,000
OSEZMAH HHLS(AY) Vbl =
6,600& * 6XHE * 12742 476
OSEZMEH 2SAAE SAH|
13,409,000& * 12013 160,908
307 21201 A 480,000 0 480,000
05 BIZERIE 3 480,000 0 480,000
OCCTV SS2MAH 2UHEI 9
2,000,000& = 208 » 12&8 480,000
401 AIEHI L 2CHEI 398,568 0 398,568
1T AIZHI 395,103 0 395,103
OO0 0l2E& CCTV A= IHA (2009) 269,721
020098 &Xl 02ol2s& CCTV st&E M A
w Al (83CH) 237,996
-0FEE CCTV & &dl 6501 » 2,191, 166& 142,426
-3l &g CCTV & &Hl 1804 = 5,309,434 95,570
ONHEOoIEESE CCTV M & A& A
31,725,000& 31,725
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OXHUHE CCTV =F WA (2007) 125,382
020078 XELHEHE CCTV == WAl
7O« 17,911, 714& 125,382
03 Al 2 0HHI 3,465 0 3,465
ONE o252 CCTV X AlZ =yl
3,465,000 3,465
CCTV SEZHEH =5 29 &M 300,000 0 300,000
401 AIEHI L 201 300,000 0 300,000
01 A& HI 300,000 0 300,000
OXsdg CCTV 2HAIAE 2= 300,000
OAAE 14 300,000,000 300,000
Zssuwlf CCTV S HAH == 520,000 0 520,000
=2 116,000
< 404,000
307 glz2+ol & 288,000 0 288,000
< 288,000
05 Rzt E = 288,000 0 288,000
OCCTV SE2AMME 2LIEHRA SAHI(ZHI)
2,000,000 * 129 * 12 288,000
< 288,000
401 Al HIZ 201 8] 232,000 0 232,000
2 116,000
< 116,000
01 A& HI 230,328 0 230,328
OxSstuwlf CCTV SS2MAE HAHAAMAE 2
E(=%4l) 212,278
OANAE 2= 212,278,000 212,278
= 106,139
< 106,139
OAAE F= AAEAH
232,000,000& = 7.78% 18,050
= 9,025
< 9,025
03 Al 2 THHI 1,672 0 1,672
OAIE =TI 1,672,000& 1,672
= 836
< 836
HelolEs39 CCTV &5 (=34l) 690,000 0 690,000
Xl 345,000
Al 345,000
401 Al HIZ 201 8] 690,000 0 690,000
Xl 345,000
Al 345,000
01 A& HI 685,652 0 685,652
Ooeol2s+9 CCTV & Xl 685,652
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OO0EoIEs2Y CCTV & XI(31HA)
647,038,000& 647,038
Xl 323,519
Al 323,519
OO0 o2+ CCTV & X A Al A
38,614,000& 38,614
Xl 19,307
Al 19,307
03 A& =TI 4,348 0 4,348
O0eolE2Es 29 CCTV £X AlE=UH
4,348,000 4,348
Xl 2,174
Al 2,174
S A3, =0lE CCTV *=(3dl) 690,000 0 690,000
Xl 345,000
Al 345,000
401 Al HIZ 201 Y] 690,000 0 690,000
Xl 345,000
Al 345,000
01 A& HI 690,000 0 690,000
OEA3&, =0IH CCTV &X 690,000
OZA3&, =06 CCTV &XI(32IH4)
651,386,000& 651,386
Xl 325,693
Al 325,693
O AMSB&, s0IH CCTV & X A& A
38,614,000& 38,614
Xl 19,307
Al 19,307
SE HAFAXNA CCTV PE(SHI) 520,000 0 520,000
< 156,000
Al 364,000
401 AIEHI L 20HYI 520,000 0 520,000
< 156,000
Al 364,000
01 A& Hl 516,724 0 516,724
=& GAHAXS CCTV X (300H2D)
486,560,000 486,560
= 145,968
Al 340,592
Os& HAFHAXA CCTV & A& HH|
30, 164,000& 30,164
< 9,049
Al 21,115
03 Al 2 THHI 3,276 0 3,276
OAIE S HHI 3,276,000& 3,276
< 983
Al 2,293
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S HAFHAXG CCTV AR ML A= 437,429 0 437,429
401 Al HIZ 201 Y] 437,429 0 437,429
01 A& HI 433,492 0 433,492
OT4a HAHFHAXAG CCTV &X 433,492
OZ4 YARFHAXSY CCTV AXI(17H2)
398,055,000& & 398,055
Oy HAFHAXSA CCTV & X1 AAIE A
35,437,000 35,437
03 Al S THHI 3,937 0 3,937
O 4d "HAFHAXA CCTV X AR
3,937,000 3,937
MEYHE CTV 2= 128,730 0 128,730
401 AIEHI L 20 128,730 0 128,730
01 A& HI 127,399 0 127,399
OMELHE CCTV EX(SeHse=d § HAX
o) 127,399
OSdszEe A94Xd CCTV EXl(=8/==
S/20S 21, 223S 2 2)
113,444,000 113,444
OMEYHZ CCTV AAIEHE A
13,955,000& 13,955
03 AIE 2 THHI 1,331 0 1,331
OMaLHE CCTV &X Al =R
1,331,000& 1,331
AMBIGHEZHH 25 500,000 0 500,000
ANRIOHM B HIH 25 500,000 0 500,000
401 AIEHI L 201 500,000 0 500,000
01 A& Bl 500,000 0 500,000
OAEIHMZBHEH 2= 500,000
OadgsAAE A=(GISA0 L AIAEHO0l
2) 250,000, 000& 250,000
OAMAE HWESRIZ SA 100,000,000 100,000
O24dH Jgtatd 25(2H2NAH S)
150,000, 000& 150,000
HAE2HZ | (MErA D) 207,311 192,067 15,244
el 2 165,919 168,323 A 2,404
ol i 165,919 168,323 N2,404
101 @144 Hl 165,919 168,323 N2,404
03 RIAHAZ 2B+ 165,919 168,323 A2,404
oA=E(It=) 93,810
O134@ Xt 25,240,0008  19H 25,240
O11éaxt 23,940,000& * 1H 23,940




ro 2 re
80X A
[0 Ho 0

d= dgodn
S (HEerdmt)
& H

SN EB S (3H) - NBAY - B2 o A o il 2
O Xt 22,640,000 * 14 22,640
o84 Xt 21,990,000& * 1& 21,990

o< 38,858
OIESY 3,360
-bif < Xt 40,0008 * 49 x 12& 1,920
-ZHl = 20,000& = 6Y = 128 1,440
ogt&d ¢ 100,000 = 19 = 12&€ 1,200
o=2s52Y 9,381
-134 Xt
25,240,000 * 10%/12 » 1H = 12&€ 2,524
114 Xt
23,940,000& * 10%/12 » 1H = 12&€ 2,394
-94 X}
22,640,000 * 10%/12 » 1H = 12&€ 2,264
-84 Xt
21,990,000& = 10%/12 » 1H = 12&€ 2,199
odazz2+Y
8,950& * 20Al2t » 4YH ~ 12& 8,592
Osgaorzzsg
8,950& * 8AIZF = 1Y = 114 8,163
Od X
29,790,000 /365 * 25 * 49 8,162
OY & FIHY| 9,381
O134 Xt
25,240,000& /128 * 60% * 1 * 23] 2,524
O114a xt
23,940,000& /12€ * 60% * 1 * 23] 2,394
O Xt
22,640,000 /128 » 60% *» 1H x 23] 2,264
o8& &t
21,990,000 /128 » 60% *» 1H x 23] 2,199
(@©FmE==}s] 120,000& * 49 x 12& 5,760
O =&l 120,000& = 49 = 12€ 5,760
O JHAH Xl & Hl 175,000 = 4% x 12&€ 8,400
(@piE==1s] 1,162
o&gs 90,0008 * 49 360
O X)) 10,0008 * 49 40
O2otd gt 60,000& * 49H 240
O& st 13,0003 * 49 52
ogsts 100,000& * 4Y 400
[@F=3=] 15,000& * 49 60
O3R2 FEL2R2A 2 &I 798
OMEoI el 7,000& * 19" » 1144 798
ORAX Xl ZHl 500,000& = 49H 2,000
41,392 23,744 17,648
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X ZH -
L= B

el

UMD MHOIHI
HHS YA (MEAHD)
S

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Jl23l 41,392 23,744 17,648
201 LBH2d| 16,912 9,334 7,578
01 At 2t 2l 16,912 9,334 7,578
OJlegesda sl 8,344,000 8,344
OJIE=Z Ul (S&dl) 8,568,000& 8,568
202 01t 20,280 6,480 13,800
01 SLHAYI 16,200 6,480 9,720
OJIEZBI(Abl) 16,200, 000& 16,200
02 X 4,080 0 4,080
OJlsz=Z8 AN
170,000& = 1203 » 2% 4,080
203 YR =2l 4,200 3,000 1,200
04 NI 4,200 3,000 1,200
OPJE=E. 350,000& = 123 4,200




